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1.

Quiz

A line of charge density A situated on the y axis extends from y = -3 to y = 2. What is the y component of

the electric field at the point (3, 7)? Answer (assuming B > A) is : 47360 ff [DQC_F%S];, where B =1

D. 3
E. 2

. A line of charge density A situated on the y axis extends from y = 4 to y = 6. What is the y component of

the electric field at the point (5, 1)?jbr /; Answer (assuming B > A) is : 47360 ff %, where C =:2
A a)b

B. b) s—4
C. ¢) 5—s
D. d) 1-s

E. e) s—1

. A line of charge density A situated on the y axis extends from y = 4 to y = 6. What is the y component of

the electric field at the point (5, 1)7jbr /;Answer (assuming B > A) is : 47360 ff %, where F =:3
A 1/2
B. 2/3
C. 2
D. 3/2
E. 3

. A line of charge density A situated on the x axis extends from x = 3 to x = 7. What is the x component of

the electric field at the point (7, 8)7jbr /;Answer (assuming B > A) is : 47350 ff ﬁ, where C =:4
A. s—3
B. 3—s
C. 8
D. s—7
E. 7T—s

. A line of charge density A situated on the x axis extends from x = 3 to x = 7. What is the x component of

the electric field at the point (7, 8)?jbr /; Answer (assuming B > A) is :

1 B __cids 9 5 5
4meq fA W’ where D% + £% =:

A. 7% + (8—s)?
B. 7% + 82
C. (7-s)% + 82
D. 7 + (3—s)?
E. 32 4 82

. A line of charge density A situated on the y axis extends from y = -3 to y = 2. What is the y component of

the electric field at the point (3, 7)? Answer (assuming B > A) is : ﬁ ff [’DQC{—%S]}_’ where C =6
A 3—s
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10.

11.

12.

A line of charge density A situated on the y axis extends from y = -3 to y = 2. What is the y component of
the electric field at the point (3, 7)? Answer (assuming B > A) is : 47350 ff [Df_s_%s]f, whereF =7

A 2

B. 3

C. 3/2

D. 1/2

. A line of charge density A situated on the y axis extends from y = 2 to y = 7. What is the y component of

the electric field at the point (2, 9)?jbr /; Answer (assuming B > A) is : 160 ff % where C =:8

4m D24£2)F 7
A 2
B.s—-2
C.2—s
D.s—9
E.9-—s

. A line of charge density A situated on the y axis extends from y = 2 to y = 7. What is the y component of the

electric field at the point (2, 9)?jbr /; Answer (assuming B > A) is : 1= fj [Dci where D? + £% =9

47reqg 2+g2]}' ’
A. 92 + (7-s)?
B. 9% + (2-s)?
C. 7% + (2-8)?
D. 22 + (7-s)?

E. 22 4 (9-s)?

A line of charge density A situated on the x axis extends from x = 4 to x = 8. What is the y component of

the electric field at the point (8, 4)7jbr /;Answer (assuming B > A) is : 47}60 ff %, where A =:10
A 1/2

B. 4
C. 2
D. 8

A line of charge density ) situated on the x axis extends from x = 4 to x = 8. What is the y component of
the electric field at the point (8, 4)?jbr /;Answer (assuming B > A) is : 160 ff [Ci where C =:1!

dm D24£2])7
A. s—8
B. 8—s
C. s—4
D. 4—s
E. 4

A line of charge density A situated on the x axis extends from x = 4 to x = 8. What is the x component of

the electric field at the point (8, 4)7jbr /; Answer (assuming B > A) is : 47}60 ff %, where C =:12
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s—8
8—s
s—4
D. 4—s
E. 4

QW >

13. A line of charge density A situated on the y axis extends from y = 4 to y = 6. What is the x component of

the electric field at the point (5, 1)?jbr /; Answer (assuming B > A) is : 47360 ff %, where C =:13
A. 5

B. s—4
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